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TS18/1

* Which one among the following is a strong smelling agent
added to LPG cylinder to help in the detection of gas
leakage?

A) Ethanol
B) Thioethanol
C) Methane

D) Chloroform




TS18/2

* Which one of the following is not correctly matched?
A) Anemometer. ::: Wind speed
B) Ammeter. ::: Electric current

C) Tachometer. ::: Pressure difference

D) Pyrometer. ::: High temperature




TS18/3

* Consider the following statements:
1. The Union government fixes the Statutory Minimum
Price of sugarcane for each sugar season
2. Sugar and sugarcane are essential commodities under
the Essential Commodities Act

Which of the statements given above is/are correct?

A) 10nly

B) 2 only

C) Both1and 2
D) Neither 1 nor 2




TS18/4

* Priority sector lending by banks in India constitutes the
lending to:

A) Agriculture

B) Micro and small Enterprises

C) Weaker Sections

D) All of the above




TS18/5

» Which of the following statements is/are correct?
Under the provisions of Article 200 of the Constitution of
India the Governor of a state may
1. withheld his assent to a Bill passed by the state
legislature
2. reverse the Bill passed by the state legislature for
consideration of the President
3. return the Bill other than a money Bill, for
reconsideration of the legislature

Select the correct answer using the code given below
A) 10nly

B) 1and 2

C)2and3

D) 1,2and 3




TS18/6

* Consider the following which can be found in the
ambient atmosphere:
1. Soot
2. Sulphur hexafluride
3. Water vapour

Which of the above contribute to the warming up of the

atmosphere?

A)1and 2 only
B) 2 only

C) 2 and 3 only
D) 1,2 and 3




TS18/7

* The emerging trading blocks in the world, such as
NAFTA, ASEAN, and the like, are expected to:

A) act as constitutions in free trade across the world

B) promote free trade on the lines down by the WTO

C) permit transfer of technology between member
countries

D) promote trade in agricultural commodities between
countries of the North and South




TS18/8

* Given below is a list of traditional dresses of women along
with States. Which one of them is not correctly matched:

A) Boku. :: Skkim
B) Mekhala ::: Assam
C) Mundu. ::: Chhattisgarh

D) Pheran. :: Kashmir




TS18/9

* The memory of a computer is commonly expressed in
terms of Kilobytes or Megabytes. A byte is made up of:

A) eight binary digits
B) eight decimal digits
C) two binary digits

D) two decimal digits




TS18/10

 Match List I with List II and select the correct answer
using codes given below:

List I List I1

a) Vitamin 1. Pepsin

b) Enzyme 2. Carotene

¢) Hormone 3. Keratin

d) Protein 4. Progesterone




TS18/11

* Consider the following statements regarding Antibiotics.

1. Penicillin is a bactericidal antibiotic
2. Erythromycin is a bacteriostatic antibiotic

Select the correct statements

A) 10nly

B) 2 only

C) Both1and 2

D) None of the above




TS18/12

* Which one of the following statements regarding starch
and cellulose is NOT correct?

A). Both of them are of plant origin
B). Both of them are polymers

C). Both of them give colour with iodine

D). Both of them are made up of glucose molecules




TS18/13

* The alpha particle carries two positive charges. Its mass is
very nearly equal to that of

A) two protons
B) an atom of helium

C) sum of masses of two positrons and two neutrons

D) two positrons as each positron carries a single positive
charge




TS18/14

» Haemophila is a genetic disorder which leads to:

A) decrease in haemoglobin level

B) rheumatic heart disease
C) decrease in WBCs

D) non-clotting of blood




TS18/15

* “You might see a few carious Dance around, but that is
because.... Used to be Danish Outpost. This quaint town
its fort and a beautiful church, the New Jerusalem, empty
streets and deserted beachfront is a quaint gem”

The place referred to in this quotation lies on the coast of

A) Tamil Nadu
B) Kerala
C) Karnataka

D) Goa




TS18/16

 Match List I with List II and select the correct answer
using the code given below the lists

List I

(Industrial Revolution)
a) First Phase

b) Third Phase
c) Second Phase
d) Fourth Phasr

List II

(Feature)

1. Rise of steel, chemical
electricity industries

2. Rise of cotton mill

3. Rise of steam engine

4. Rise of petro

chemicals, jet aircraft,

computers




TS18/17

* The major chemical compound found in human kidney
stones 1is

A) Uric acid
B) Calcium carbonate

C) Calcium oxalate

D) Calcium sulphate




TS18/18

* Which one of the following first mooted the idea of a
Constituent Assembly to frame a Constitution for India?

A) Swaraj Party in 1934

B) Congress Party in 1936

C) Muslim League in 1942

D) All Parties Conference in 1946




TS18/19

* The valley of flowers is in

A) Himachal Pradesh
B) Jammu and Kashmir
C) Sikkim

D) Uttarakhand




TS18/20

 Barium in a suitable form is administered to patients
before an X-ray examination of the stomach, because:

A) barium allows X-rays to pass through the stomach on
account of its transparency to X-rays

B)barium compound, like magnesium sulphate helps in
cleaning the stomach before X-ray examination

C) barium is a good absorber of X-rays and this helps the
stomach to appear clearly in contrast with the other
regions in the picture

D) barium salts are white in colour and this helps the
stomach to appear clearly in contrast in the picture




TS18/21

* Which one of the following Schedules of the Constitution
of India contains provisions regarding anti-defection Act?

A) Second Schedule
B) Fifth Schedule
C) Eight Schedule

D) Tenth Schedule




TS18/22

* Consider the following pairs

Congress Session Importance

1. Belgaum ::: Demand for constituent
Assembly

2. Faizpur . Gandhi became President

3. Tripuri .. S C Bose resigned due to

difference with Gandhi

4. Lahore :::  Poorna Swaraj resolution was
adopted

Which of the above is/are correctly matched

A)1and 2 only

B) 2,3 only

C) 3,4 only

D) 1,3 only




TS18/23

e Match the List I with List II and select the correct answer
using the codes given below the lists.

List I

a) Adrenalin

b) Estrogen

through sense of smell
¢) Insulin

d) Pheromones

List I1
1. Anger, fear, danger
2. Attracting partners

3. Females
4. Glucose




TS18/24

* Economic Survey in India is published officially, every
year by the:

A) Reserve Bank of India

B) Planning Commission of India

C) Ministry of Finance, Government of India

D) Minister of Industries, GOI




TS18/25

* Which one of the following elements is essential for the
construction of a nuclear reactors?

A) Cobalt
B) Nickel

C) Zirconium

D) Tungsten




TS18/26

* Acting Chief Justice of the Supreme Court in India is
appointed by the

A) Chief Justice of Supreme Court

B) Prime Minister
C) President

D) Law Minister




TS18/27

* The ‘Green Revolution’ involved the use of high yielding
verities of seeds which required:
A) less fertilizer and less water

B) more fertilizer and less water

C) less fertilizer and more water

D) more fertilizers and more water




TS18/28

* Consider the following pairs:

Congress Importance
Sessions

1. Belgaum ::: Demand for constituent Assembly
2. Faizpur ::: Gandhi became President

3. Triputi ::: S C Bose resigned due to
difference with Gandhi

4. Lahore ::: Poorna Swaraj resolution was
adopted

Which of the above is/are correctly matched:
A) 1and 2 only B) 2 and 3 only
C) 3and 4 only D) 1and 3 only




TS18/29

* [f the door of a running refrigerator in a closed room is
kept open, what will be the net effect on the room/

A) It will cool the room

B) it will heat the room

C) it will make no difference on the average

D) It will make the temperature go up and down




TS18/30

» Match the following List I with List Il and select the
correct answer using the codes given below the list:

List I (Authors)

a) Mahatma Gandhi

b) Ram Manohar Lohia
c) Dr. Rajendra Prasad

d) Abul Kalam Azad

List II (Books)
1. India Divide
2. India Wins Freedom
3. Hind Swaraj

4. The Wheel of History




TS18/31

* The main crops grown under plantation agriculture in
India are:

A) Tea, Rubber, Coconut, Coffee

B) Tea, Rubber, Sunflower, Soyabean

C) Tea, Banana, Grapes, Coconut

D) Tea, Rubber, Coconut Soyabean




TS18/32

e Match the List I with List II and select the correct answer
using the codes given below the Lists:

List I List II

a) Lactic Acid 1. Tamarind
b) Tartaric Acid 2. Orange
c) Oxalic Acid 3. Tomato
d) Citric Acid 4. Sour curd

Codes:

A)2314
B)2134
C) 4321
D) 4132




TS18/33

* [f we sprinkle common salt on an earthworm, it dies due
to

A) Osmotic shock
B) Respiratory failure

C) Toxic effect of salt

D) Closure of pores of skin




TS18/34

» Match the following List I with List II and select the
correct answer using the codes given below:

List I List I1
(Books) (Authors)
a) The Voice of the Heart 1. Mriralini Sarabhai
b) Magic Seeds 2.V S Naipal

c) To a Hunger Free World 3. S Swaminathan
d) Paradise and Other Stories 4. Khushwant Singh




TS18/35

* The following are the major oilseeds produced in India:

1. Sesanum

2. Mustard

3. Groundnut
4. Soyabean

Which one of the following is the correct sequence of the
descending order of the quantity of their production?

A)1,2,3,4
B) 3,2,4,1
C) 2,4,31
D) 3,4,2,1




TS18/36

* Which one among the following statements
approximately defines the term * drain theory’ as
propounded by Dadabhai Naoroji

Ao That a part of India’s national wealth or total annual
product was being exported to Britain for which India got
no material returns

B) That the resources of India were utilized in the interest
of Britain

C) That the British industries were given a opportunity to
invest in India under the protection of the imperial power

D) That the British goods were being imported to India
making the economy poorer day by day




TS18/37

 Match List I with List II and select the correct answer
using codes given below:

List I List II

a) Article 40 1. Organization of village Panchayat
b) Article 41 2. Right to work

c) Article 44 3. Uniform Civil Code

d) Article 48 4. Organization of agriculture and
animal husbandry

d




TS18/38

* Which one of the following areas of India produces
largest amount of cotton?

A) North-Western India and Gangetic West Bengal

B) North-Western and Western India
C) Western and Southern India

D) Plains of Northern India




TS18/39

» Which one of the following rivers thrice forks in to two
streams and reunite a few miles further on. Thus forming
the islands of Srirangapattanam, Sivasamudram and
Srirangam?

A) Cauvery

B) Tungabhadra

C) Krishna

D) Godavari




TS18/40

* The offending substance in the liquor tragedies leading to
blindness etc. is:

A) ethyl alcohol
B) amyl alcohol

C) benzyle alcohol

D) methyl alcohol




TS18/41

* Who among the following leaders did not believe in the
drain theory of Dadabhai Naoroji?

A) B G Tilak
B) R C Dutt
C) M G Ranade

D) Sir Syed Ahmed Khan




TS18/42

* Consider the following statements:
No one can be compelled to sing the National Anthem
since:

1. It will be violative of the Right to freedom of speech and
expression

2. [t will be violative of the Right to Freedom of
conscience and practice and propagation of religion

3. there is no legal provision obliging any one to sing the
National Anthem

Which of these statements are correct:

A)1and 2 B) 2 and 3
C)1,2and 3 D) none of these




TS18/43

* Which of the following was were reason/reasons for the
success of European trading companies in South India
during the 17" Century?

1. The presence of the Mughls in the South was not as
much as in the North
2. The Vijaya Nagar Kingdom had been overtrown in the

late 16" Century
3. The South had many small and weak states

Select the correct answer using the code given below
A)1,2and 3

B) 1and 2

C)2and3

D) 1 only




TS18/44

» Which of the following factors have never been accounted
in the calculation of poverty in India before the
Rangarajan committee came up with its report on
Poverty?

1. Cost of basic education

2. health expenses

3. Housing expenses

4. Nutrition based expenses

Choose the correct answer using the codes given below:
A)1and 2 only

B) 1and 4 only

C) All of the above

D) 4 only




TS18/45

 Corpus Lutcum is a mass of cells found in:

A) Brain

B) Ovary

C) Pancreas

D) Spleen




TS18/46

* Consider the following statements:

A person in a spaceship located half way between the
earth and the sun will notice that the:

1. Sky is jet black
2. stars do not twinkle
3. temperature outside the spaceship is much higher than

that on the surface of earth
Which of these statements is/are correct?

A) 3 alone
B) 1and 2
C)1and3
D) 1,2and 3




TS18/47

* The term ‘apabhramsa’ was used in medieval Sanskrit
texts to denote:

A) outcasts among the Rajputs

B) deviations from Vedic rituals

C) early forms of some of the modern Indian Languages

D) non-Sanskrit verse




TS18/48

* Losoong is a festival which is celebrated in:
A) Tibet
B) Arunachal Pradesh

C) Sikkim

D) Kerala




TS18/49

» Fawazil in Sultanate period meant:
A) extra payment to the nobles

B) revenue assigned in lieu of salary

C) excess amount paid to the exchequer by the iqtadars

D) illegal extractions extracted from the peasants




TS18/50

* Consider the following effects of genetic engineering:

1. Disease resistance
2. Growth promotion
3. Animal cloning

4. Human cloning

On the above, that have been tried with certain amount of
success include:

A)1,3and 4
B) 2,3and 4
C)1,2and 4
D) 1,2and 3




TS18/51

* In surgery, what is arthroplasty?

A) Open heart surgery

B) Kidney transplant
C) Hip-joint replacement

D) Blood transfusion




TS18/52

* Which one among the following was areason for which
the French could not succeed in Imdia in the 18t
Century?

A) They sided with the weak Indian sides such as Chanda
Sahib and Muzafar Jang

B) Dupleix was called back at a crucial time

C) They conspired against the Indian powers

D) Their trading company was heavely dependent on the
French Government




TS18/53

« Among the following, who the American publicist was
with Mahatma Gandhi during the ‘Quit India’ movement

A) Louis Fischer
B) William L Shiver

C) Web Miller

D) Nagley Farson




TS18/54

* Which one of the following statements is not true?
A) Ghaggar’s water is utilized in the Indra Gandhi Canal
B) Narmada rises from Amarkantak region

C) Nizam Sagar is situated on the Manjira river

D) Penganga is a tributary of Godavari




TS18/55

* On the first occasion, the Prime Minister of India was
appointed by:

A) The Governor General

B) The British Emperor

C) Mahatma Gandhi

D) The Viceroy




TS18/56

* According to 2011 Census, the State having the lowest rate
of illiteracy was in:

A) Arunachal Pradesh

B) Madhya Pradesh

C) Orissa

D) Uttar Pradesh




TS18/57

 [f the number of seats allocated to a state in the Lok
Sabha is 42, then the number of seats reserved for the
Scheduled Castes in that will be:

A) 21

B) 14

C)7

D)6




TS18/58

 The Sultan of Delhi who is reputed to have built the
biggest network of canals in India was:

A) liltutmish

B) Ghiyasuddin Tughlaq

C) Feroz Shad Tughlaq

D) Sikandar Lodi




TS18/59

* Why do we feel cool under a tree but not so under a tin
shed on a sunny day?

A) The greenness of the tree gives the cool feeling
B) Photosynthesis absorbs heat

C) The leaves convert water vapours into water which is
heat absorbing process

D) The leaves give out water which vaporizes absorbing
some heat as latent heat




TS18/60

* Bird population is shrinking fast mainly because?

1. there has been an abnormal increase in the number of
hunters

2. bio-pesticides and organic manure are being used on an
large scale

3. there has been a large scale reduction in the habitats of
the birds

4. there has been a large scale used of pesticides, chemical
fertilizers and mosquito repellents

Select the correct answer using the codes given below:

A)1and 2 B) 2 and 3
C)3and 4 D)1and 4




TS18/61

* Of the four of political protest mentioned below, which
one is derived from the name of the person who used it as
a political weapon for the first time

A) Boycott

B) Gherao
C) Bandh

D) Hartal




TS18/62

* Lord Mountbatten came to India as Viceroy alongwith
specific instruction to:

A) balkanize the Indian subcontinent
B) Keep India united of possible

C) accept Jinnah’s demand for Pakistan

D) persuade the Congress to accept partition




TS18/63

* The Pradhan Mantri Gram Sadak Yojana is

A) To augment road connectivity and provide food grains
to poorest of the poor at cheaper rates

B) To facilitates patrolling of the area to prevent misuse of
electricity by unauthorized persons

C) To help the police to reach the place of crime more
swiftly to control crime spurt

D) To develop community live in villages which are not
well connected




TS18/64

 Match List I with List II and select the correct answer
using the codes given below the lists:

List I List I1
a) Malaria 1. Fungi
b) Poliomyelitis 2. Bacteria
c¢) Tuberculosis 3. Virus
d) Ringworm 4. Protozoan

Code:
A)
B)
C)
D)




TS18/65

* Which of the following causes have been mainly
responsible for the slow growth of real capital income in

India?

1. Rapid rise in population
2. Rapid rise in prices
3. Slow pace of progress in agricultural and industrial

fields

4. Non-availability of foreign exchange

Find correct answer from the codes given below:

A)1and 2 B) 1and 3
C)1and 4 D) 1,2,3and 4




TS18/66

* Which one of the following languages belong to Austric
group?

A) Marathi
B) Ladakhi

C) Khasi

D) Tamil




TS18/67

* Which of the following holds the cochlea in a human ear?

A) Outer ear
B) Middle ear

C) Inner ear

D)None of the above




TS18/68

* The concept of Eight-fold path forms the theme of

A) Dipavamsa
B) Divyavadana
C) Mahaparinibban Sutta

D) Dharma Chakra Pravartaana Sutta




TS18/69

* Which of the following is/are used as biofertilizers? Select
the correct answer from the codes given below:

1. Azolla

2. Blue Green Algae
3. Alfalfa

4. Nitrolin

Codes:

A) 2and 4

B) 1,2 and 4
C) 2,3and 4
D) 1,2and 3




TS18/70

* Which one of the following was initially the most
powerful city state of India in the 6t century BC?

A) Gandhar
B) Kamboj
C) Kashi

D) Magadh




TS18/71

* “They are fantastically diverse. They speak hundreds of
languages and dialects. They comprise scores of ethnic
groups. They include highly industrialized economies and
up-and-coming economies. They span half the surface of
the earth and are home to two-fifths of world’s
population.”

The group of countries referred to here belongs to:

A) SAPTA
B) APEC
C) EC

D) CIS




TS18/72

* The Supreme Court has snapped district administration
and state governments across the north-western states for
giving up before the ‘Khap Panchayats’.

The Khap Panchayats are:

A) Extra-constitutional bodies

B) Statutory bodies

C) Local self government bodies

D) None of the above




TS18/73

* The energy of the Sun is produced by:

A) Ionization
B) Nuclear fusion

C) Nuclear Fission

D) Oxidation




TS18/74

* Consider the following statements:

In India, taxes on transactions in Stock Exchanges and
Futures Markets are

1. Levied by the Union

2. Collected by the States

Which of the Statements given above is/are correct?

A) 10nly

B) 2 only

C) Both1and 2
D) neither 1 nor 2




TS18/75

* When the Indian Muslims League was inducted into the
Interim Government in 1946, Liyagat Ali Khan was
assigned the portfolio of:

A) Foreign affairs

B) Home
C) Finance

D) Defence




TS18/76

* Consider the following with reference to NITI Aayog.

1. [t hosts the Team India Hub which leads the
engagement of states with the Central government

2. [t acts as a repository of research on good governance
best practices

3. It has been nominated as the nodal agency for bringing
the Sustainable Development Goals (SDG) into action
across India

Select the correct answer using the codes given below:

A) 10nly B) 2 and 3 only
C) 1and 2 only D) 1,2and 3




TS18/77

* Which one among the following was not true about the
Kerala King Martanda Verma?

A) He ruled over Travancore

B) He subduded the feudatories

C) He gave heavy bribes to the European officers to
maintain peace

D) He organized a strong modern army




TS18/78

* Which of the following is most urbanized State of India?

A) Maharashtra
B) Mizoram
C) Goa

D) Tamil Nadu




TS18/79

* Government has launched UDAN scheme to augment the
aviation sector. Consider the following Statements with
reference to it:

1. Under the scheme, all of the seats on the plane will be
capped at Rs. 2500 per hour’s flight for selected
destinations

2. The scheme also envisages subsidy for some selected
international destinations

The correct statements is/are:

A) 10nly

B) 2 only

C) Both1and 2

D) None of the above




TS18/80

* Consider the following statement about acetylene:

1. It is used in welding industry

2. It is a raw material for preparing plastics
3. It is easily obtained by mixing silicon carbide and water

Which of these statements are correct?

A)1and 2
B)1and 3
C)2and3
D) 1,2and 3




TS18/81

* The Rajiv Gandhi National Park is located in:

A) Rajasthan

B) Madhya Pradesh

C) Uttarakhand

D) Karnataka




TS18/82

* Which one of the following ancient Indian records in the
earliest royal to preserve food grains to be utilized during
the crises in the country?

A) Sohagaura Copper-plate

B) Rummindei Pillar-edict of Ashoka

C) Prayaga-Prasasti

D) Mehrauli Pillar inscription of Chandra




TS18/83

* The ‘gilt-edged’ market deals in:

A) Worn and torn currency notes

B) Bullion

C) Government Securities

D) Corporate bonds




TS18/84

* Consider the following statements in regard with GST
Council
1. GST Council’s objective is to decide the tax rate
exempted goods and the threshold under the new
taxation regime
2. The GST Council is chaired by Union Minister of State
in charge of Finance
3.The decisions of the GST Council will be made by three-
fourth majority of the votes cast

Select the correct answer using the codes given below

A)1and 2 only
B) 3 onl

C)1 andy 3 only
D) 1,2 and 3




TS18/85

» Consumption of Fish is considered to be healthy when
compared to flesh of other animals because fish contains:

A) polyunsaturated fatty acids
B) saturated fatty acids

C) essential vitamins

D) more carbohydrates and proteins




TS18/86

* Of the following the oldest dynasty was:

A) Chalukyas
B) Pallavas
C) Rashtrakutas

D) Satavahan




TS18/87

* Consider the following statements regarding global
warming:

1. Melting of polar ice caps and subsequently rise in the
sea level is the most important effect of global warming

2. The sea level is likely to rise by one metre by 2070 AD if
the present level of global warming is not controlled

3. All the coral islands in the world will be submerged

4. By 2044 AD Fiji is likely to be submerged and rise in the
sea level by the same year will pose a grave danger to the
Netherlands.

Which of these statements are correct?

A)1,2,3and 4 B) 4 only
C) 1,2and 4 D) 1,2and 3




TS18/88

 Zawar mines in Udaipur district of Rajasthan is famous
for

1. Iron ore
2. Z1nc

3. Silver

Select the correct answer using the codes given below:

A)1and 2 only
B) 1and 3 only
C) 2 and 3 only
D) 1,2 and 3




TS18/89

» His ‘principal forte was social and religeous reform. He
relied upon legislation to do with social ills and worked
unceasingly for the eradication of child marriage, the
purdah system.... To encourage consideration of social
problems on a national scale, he inaugurated the Indian
National Social Conference, which for many years met for
its annual sessions alongside the Indian National
Congress. The reference in this passage is to:

A) I C Vidyasagar
B) B M Malabari
C) M G Ranade
D) B R Ambedkar




TS18/90

 Match List I with List II and select the correct answer
using the codes given below the lists:

List I

a) Chandragupta
b) Bindusara

c) Ashoka

d) Chanakya

List I1

1. Piyadasi

2. Sandrocottus
3. Amitraghata

4. Vishnugupta




TS18/91

* One of the important goals of economic liberalisation
policy is to achieve full convertibility of the Indian rupee.
This is being advocated because:

A) convertibility of the rupee will stabilize its exchange
value against major currencies of the world

B) it will attract more foreign capital inflow in India

C) it will help promote exports

D) it will help India secure loans from the world financial
markets a attractive terms




TS18/92

* India is the largest producer in the world for which of the
following commodities?

1. Jute
2. Coftee
3. Tea
4. Pulses

Choose the correct answer using the codes below:

A)1and 2
B) 1,2 and 3
C) 4 only
D) 3 only




TS18/93

* Nastaliq was:
A) a Persian script in medieval India

B) a raga composed by Tansen

C) a cess levied by the Mughal rulers

D) a manual of code for the Ulemas




TS18/94

 Match List I with List II and select the correct answer
using the codes given below the lists:

List I List I1
a) Ringgit 1. Indonesia
b) Baht 2. South Korea
c) Rupiah 3. Thailand

d) Won 4. Malaysia

Code:
A)
B)
C)
D)




TS18/95

* Which one of the following sculptures invariably used
green schist as the medium?

A) Maurya sculptures
B) Mathura sculptures

C) Bharhut sculptures

D) Gandhara sculptures




TS18/96

 Match List I with List II and select the correct answer
using codes given below the lists:

List I List II

a) Manganese 1. Madhya Pradesh
b) Nickel 2. Orissa

c) Lead-Zinc 3. Rajasthan

d) Asbestos 4. Andhra Pradesh




TS18/97

* Total internal reflection can take place when light travels
from:

A) diamond to glass
B) water to glass

C) air to water

D) air to glass




TS18/98

» Match List I with List IT and select the correct answer
using codes given below:
List [ gives the Hazardous industries using child labour
lead to PIL in Supreme Court

List I List I1
a) Glass Industry 1. Moradabad
b) Brassware Industry 2. Marakpur

c) Slate Industry 3. Ferozabad
d) Handmade carpet Industry 4. Mirzapur

b




TS18/99

* Which of the following statements regarding red soils of
India is/are correct?

1. The colour of the soil is red due to ferric oxide content
2. Red soils are rich in lime humous and potash

3. They are porous and have friable structure.

Select the correct answer using the code given below:

A) 10nly
B)1and 3
C)2and3
D) 1,2 and 3




TS18/100

* Which one of the following metals does not form
amalgams?

A) Zinc

B) Copper

C) Magnesium

D) Iron
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